HEThHhERMAERE H282.14(H)
F& I &
G.S.0.S
%k TR0 XE EH
nNyh—
Kiz Hd 7 3 FH
57 W71
H i R v /NI =4F &%
FKK
=S Y M M
K.N.N.M
Fith &= ok =H
bY=LF=L
Al Al | KH 2
T¥me
i N KH M XE
F—LKOKO
2T W= KH i N
A 1 2 3 4 BT |
1 FY—hF-4 0—2 1—2 2—-0 2
2 | F-hKOKO 2—0 2—-0 2—-0 1
3 noh— 2—1 0—2 1—2 3
4 87 V7% bk 0—2 0—2 2—1 4
B 5 6 7 8 BT |
5 FKK 1—2 0—2 2—-0 2
6 KNNK 2—1 0—2 1—2 3
7 G.S.08 2—0 2—-0 2—0 1
8 it 0—2 2—1 0—2 4
ABr—FAVE avYLb—F AV
o | =2 | Rer

OXORE—H=>
|~
_|°

AXTINDND

(A=EHFI1)

*H— RFBRIDBOHATT, o o
* A E/-TH 65 — LS. 11 BRI 215108 {UNEBRDA-N—417 L~
* EEF —LOKEZEDHIR—ILEX T EABE BT TEL,
* UHSTTHOEE - BH-ERIOETELCRRELAVE LA,
* B TRISHST-BE | RFEMAE R CRAET TS,

F-—HE-= sTN>
|~

»w: O »w- D—‘W—I

- S w>
|~

_IN
AT 2 2 RO



HAaTARERERMEA&E H28.214(H)

B A I 58
+/ % N1l
EK WA # H =28
WA lAYA
A Al FlEx A
MAXBET
= BiE Ak BiE
YIILYETIILY
12 B EH =l x
F—LUVOFEDHLY
3 H R ¥R A
S.M.N.H
i JKH ¥ H [RH
+/ % /\F1I
E:s Fp & K H =1
D.JK
{EIR Ko #H =
MOFES
HE% ik NI =il
LS

ik (2) =H Y Mg




pERMEAEE H28.2.14(8)

& I &3
A 1 2 3 112603
1 SM.N.H 2—0 1—2 2
2 F/nF 1 0—2 0—2 3
3 hoxEX 2—1 2—0 1
B 4 5 6 5263
4 M 0—2 - 2
5 MAXBET — — 1
6 DJK -2 0—2 3
C 7 8 9 10 (263
7 F—LUVEDY 2—0 2—0 1
8 F/INF -2 2—1 3
9 S5 )LY -2 2—0 2
10 F//\F1I 1—2 0—2 4
EB—F ATk HLREH
|
2 0 0 2 210
2 0 2 1 0 2
A B B C C A C B ¥+ *}J
1 Y 2 2 1 2 3 1 | H
h E )| a2 F s + M A
D % 5 | . J A
ES + L M N X [0
x & 14} ) ¥ B F3
x F3 N E H
)" H . T Y
i D] H
ayL—3ay 1 2 3 JE iz
A3 F /1 DEF 2—0 1
B3 DJK DEF DEF 3
C4 +/\F1I 0—2 DEF 2

(KEEEH)

* H—EREE X EDAHTY,
* HEIL/-TV6 — L%, 181 BRIZEST=5108 1 MEBRDA—-N 447 -9
* H%%a’-ff_\a)1’6%%0)7575“7!'2‘—)1/&;(:7%2&%&?@ IFTLFEE0Y,
* BHSTTORY - BH-BEIIOZFELTCEEEFEVEL A,
* 11156 RT7EHAB A THEF1ToTIESLY,



